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Directions (1- 5): Study the following information carefully to answer the given questions.  

Twelve persons are sitting in two parallel rows containing six people in such a way that there is an equal distance 

between adjacent persons. In Row – I, Danvir, Danav, Devrat, Dayaal, Darshan and Darshit are seated (but not 

necessarily in the same order) and all of them are facing South. In Row -II, Dipen, Deepak, Dileep, Danny, David 

and Daman are seated (but not necessarily in the same order) and all of them are facing North. Therefore, in the 

given seating arrangement, each member seated in a row faces another member of the other row. All of them 

having a cars of different companies, viz Tata, Lexus, Toyota, Jaguar, Lamborghini, Mercedes-Benz, BMW, 

Nissan, Renault, Skoda, Audi and Dodge but not necessarily in the same order. Deepak faces one who sits third 

to the right of Darshan. Danny neither owns Jaguar nor Toyota. The person who owns Dodge, facing South 

Direction. Danav owns Skoda and faces the one who owns Mercedes-Benz. Only three persons sit between 

Darshan and Danav. The person who owns Jaguar car, facing North Direction. Darshit does not own Dodge. The 

persons who own Mercedes-Benz and BMW sit next to each other. The one who owns Nissan sits second to the 

right of Danvir. Darshit is neither an immediate neighbour of Danav nor Darshan. One of the immediate 

neighbours of Darshit faces Daman. The one who owns Renault car sits at one of the extreme ends of the line. 

Only three persons sit between Daman and the one who faces Devrat. The one who owns Tata car sits at one of 

the extreme ends of the line. There are two people sit between one who owns Dodge car and the one who owns 

Renault. Dipen sits second to the left of the one facing Danvir. The person who owns Lamborghini faces North 

Direction. Dileep is not an immediate neighbour of Deepak. Danav does not face David. There are three people sit 

between one who owns Tata car and the one who owns Jaguar. The person who owns Toyota faces one of the 

immediate neighbours of Dodge. There are two people sit between one who owns Nissan and Audi. 

1).  How many persons are seated between Danny and Daman? 

a. One 

b. Three 

c. Four 

d. Two 

e. None of these 

2). Who amongst the following sit at the extreme ends of the rows? 

a. Darshan, Danav 

b. Dipen, Danvir 

c. Darshan, David 

d. Darshan, Danny 

e. Dipen, Darshan 

3). Who amongst the following faces Dipen? 

a. Dayaal 

b. Darshit 
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c. Devrat 

d. Darshan 

e. None of the Above 

4). Danvir is related to Toyota in the same way as Danny is related to Nissan based on the given arrangement. 

Then Darshit is related to? 

a. Toyota 

b. Jaguar 

c. BMW 

d. Lexus 

e. None of the Above 

5).  Four of the following five are alike in a certain way based on the given arrangement and so form a group. 

Which is the one that does not belong to that group? 

a. Danny, Danvir 

b. Daman, Darshit 

c. Dileep, Dayaal 

d. Dipen, Danav 

e. Dipen, Devrat 

 

Directions (Q. 06-10): Read the following information carefully and answer the questions that follow. 

 Twelve people are sitting in two parallel rows. In row 1, Avikshit, Avinash, Ayush, Atulya, Avanish and 

Atmaja are sitting facing towards south. In row 2, Aadesh, Aabheer, Aafreen, Aakash, Aashish and 

Abhilash are sitting facing towards north. They are sitting in a manner that each person sitting in row 1 

faces exactly one person sitting in row 2. Each of these twelve persons except two has a different favorite 

colour. 

 Aabheer likes pink and is sitting opposite to the one who is second to the left of Ayush who likes Grey. 

 Neither Aabheer nor Ayush sits at any of the extreme end. 

 Aakash and the one who likes Green sit at extreme end of the row, but they do not face each other. 

 Only three people sit between Aafreen and the person who likes Blue. 

 Aafreen faces Avanish, who likes Red. 

 Atmaja sits second to the right of Atulya, who likes Brown. 

 Four people sitting at extreme end like white, green, blue and purple color. 

 Aadesh likes black and is sitting third to the left of Aafreen 

 Avinash does not face Aabheer while Aashish faces Atulya 

 Aakash is a neighbour of Aadesh while Abhilash is not 

 There are three people between the two who like green and grey 

 The one who likes yellow is sitting immediate left of the person who likes purple 
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6). Who is sitting second to the right of the one who faces Atulya? 

a. Aadesh 

b. Aabheer 

c. Aafreen 

d. Aakash 

e. Aashish 

7). Find the odd one out? 

a. Atmaja 

b. Avinash 

c. Aakash 

d. Abhilash 

e. Atulya 

8). Who is sitting between Atulya and the person who likes Red color? 

a. Avikshit 

b. Avinash 

c. Ayush Atulya 

d. Avanish 

e. None 

9). What is the favourite color of Aashish? 

a. Blue 

b. Black 

c. White 

d. Grey 

e. None 

10).Which of the following combination between person and color is incorrect? 

a. Aadesh-Black 

b. Atulya -Brown 

c. Ayush -Grey 

d. Avanish-Red 

e. All are correct 

 

Directions (Q. 11-15): Study the following information carefully and answer the questions. 

There are two parallel rows with a sitting capacity of six on each side but only five people are sitting in each row 

keeping one seat vacant in each row. In row- 1 , Ragu, Raju, Arjun, Mahi and Mani are sitting and facing south. In 
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row-2, Atharva, Rakesh, Anoop, Tinku and Ramu are sitting and facing north. All of them like a different fruit, ie 

Mango, Banana, Apple, Guava, Kiwi, Orange, Pear, Litchi, Berry and Cherry. 

• Ramu sits third to the right of Rakesh and likes Guava. 

• Only two people sit between Atharva and the vacant seat. 

• Atharva does not like Kiwi or Apple. 

• Mani is an immediate neighbour of Arjun. 

• Raju likes Cherry. The one who likes Apple faces the one who likes Litchi. 

• The one who likes Apple sits opposite the one who sits third right of the one who sits opposite Ramu. 

• Arjun is not an immediate neighbour of Mahi. 

• Tinku, who likes neither Kiwi nor Orange, does not face the vacant seat 

• Neither Ramu nor Rakesh sits at the extreme ends. Mahi faces Rakesh. 

• Vacant seats are not opposite each other. 

• Two persons sit between Tinku and Anoop. 

• The one who likes Berry faces the one who likes Guava. 

• The person who likes Mango and Litchi are adjacent to each other. 

• The vacant seat of row one is not adjacent to Mahi. 

• Atharva sits at one of the extreme ends. 

• Rakesh does not like Mango and Litchi. 

• The vacant seat of row one does not face Ramu and also it is not at the extreme ends. 

• Anoop is an immediate neighbour of Ramu, who faces the person who likes Berry. 

• Raju faces the vacant seat in row-2 and sits third to the right of Arjun. 

• Arjun likes Pear. 

11. Who sits second to the right of the one who faces vacant seat of row one? 

a. Raju 

b. Arjun 

c. Mani 

d. Atharva 

e. Ragu 

12. Which of the following fruits does Tinku like? 

a. Apple 

b. Kiwi 

c. Banana 

d. Guava 

e. Orange 

18. Ragu is related to the vacant seat of row 1 in the same way as Tinku is related to Anoop. So the vacant seat 

of row two is related to who among the following? 
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a. Arjun 

b. Ramu 

c. Atharva 

d. Raju 

e. Rakesh 

14. Who sits diagonally opposite the one who likes Orange? 

a. Mani 

b. Mahi 

c. Ragu 

d. Raju 

e. None of these 

15. Which of the following is true regarding Anoop? 

a. Rakesh is sitting second to the right of Anoop 

b. Ramu is sitting second to the left of Anoop 

c. Anoop faces Arjun 

d. Anoop is facing the vacant seat of row one 

e. Ragu faces Anoop. 

 

Directions (Q. 16-20): Study the following information carefully and answer the questions. 

10 friends sitting in a restaurant , five of them i.e. Amar, Vimal, Diwan, Raj and Renu are sitting in a row facing 

North and the other five friends Seetha, Padma, Manu, Ramu and Tilak are sitting in row facing south. Each friend 

in row is facing exactly one from the other row. One of them likes grapes. Seetha sits opposite the friend who likes 

a banana and sits at one of the extremes. The friend who likes kiwi who is not Manu sits second to the right of 

Seetha. Tilak sits exactly in the middle of Manu and the friend who likes a cherry who is not Seetha. Vimal who 

does not sit at extreme end and likes an orange and sits opposite the friend who likes an apple. The one who likes 

pineapple sits opposite the friend who is to the immediate left of Vimal. The friend who likes a strawberry who is 

not Diwan sits opposite Ramu. Padma does not sit at any of the extremes but sits opposite the friend who likes a 

guava, who is adjacent to Amar and the friend who likes a mango. Raj neither likes a guava nor likes a 

strawberry. 

16. Who likes mango? 

a. Tilak 

b. Diwan 

c. Raj 

d. Amar 

e. Renu 

17. Vimal is how many places away from the one who likes Banana? 
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a. One 

b. Three 

c. Four 

d. Two 

e. None of these 

18. If Tilak likes Guava, Padma likes Banana then, who will like orange? 

a. Manu 

b. Renu 

c. Ramu 

d. Seetha 

e. Raj 

19. Who sits third to the left of the one who likes Guava? 

a. Diwan 

b. Renu 

c. Amar 

d. Raj 

e. Padma 

20. Which one is not belong to the group? 

a. Pine apple 

b. Grapes 

c. Strawberry 

d. Mango 

e. Banana 

 

Directions (Q. 21-25): Study the following information carefully and answer the questions. 

There are eight persons seated in two rows. In row I – A, B, C and D are seated who all are facing south. In row II 

– P, Q, R and S are seated who all are facing north. These eight persons reads different newspapers – TOI, The 

Tribune, Economic Times, Indian Express, The Hindu, Hindustan Times, Financial Express and Business 

Standard but not necessarily in the same order. In the seating arrangement each member seated in a row faces 

one of the members of the other row. C is seating second to the right of the person who reads Business Standard. 

R is an immediate neighbor of the person who faces the one who reads Business Standard. Only one person sits 

between R and the one who reads Indian Express. The immediate neighbor of the one who reads Indian Express 

faces the one who reads Economic Times. 

The one who reads TOI faces the one who reads Hindustan Times. R is not the one who reads Hindustan Times. 

P is not the one who reads Indian Express and he does not face the one who reads Business Standard. Q faces 

the one who reads The Hindu. The one who faces S is sitting at the position which is immediate left of A. B is not 
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sitting at any of the extreme ends of the line. The one who reads Business Standard does not face the one who 

reads The Tribune. 

21. Who is sitting opposite to person who reads Indian express? 

a. D 

b. Person who reads Economic times 

c. A 

d. S 

e. Person who reads Hindustan Times 

22. How many person sitting between A and D? 

a. 3 

b. 2 

c. 1 

d. 4 

e. none 

23.Who is sitting in the extreme end of the north facing row? 

a. P,D 

b. C,D 

c. P,C 

d. P,R 

e. None 

24. Person who reads Times of India is an immediate neighbour of ? 

a. D 

b. Q 

c. person who reads Business standard 

d. person who reads Tribune 

e. person who reads Financial express 

25. Who is sitting second to the right of one who reads Economic times? 

a. B 

b. person who reads The Hindu 

c. P 

d. S 

e. None of these 

 

Directions (26-30): Study the following carefully and answer the questions given below. 

Twelve friends are sitting in two parallel lines. There are 6 people in each row and sitting facing a person of other 

row. In row 1, A, B, C, D, E and F are seated and all of them are facing south. In row 2, P, Q, R, S, T and O are 
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seated and all of them are facing north, but not necessarily in the same order. Each of them knows different 

Indian languages , viz Hindi, Bengali, Malayalam, Odia, Assamese, Bhojpuri, Marathi, Telugu, Haryanvi, Gujarati, 

Punjabi and Tamil, but not necessarily in the same order. 

C, who knows Assamese, sits third to the left of B. C is not an immediate neighbour of either E or A. P, who 

knows Punjabi, sits third to the right of S. Neither P nor S sits at the extreme ends of any row. E, who knows 

Hindi, faces the one who knows Telugu. F, who knows Malayalam, faces O, who sits second to the left of T and 

does not know Odia . T is not an immediate neighbour of S. Only two people sit between Q and T, who know 

Tamil and Haryanvi respectively. D, knows neither Bengali nor Odia who sits on the immediate right of the person 

who knows Assamese. A, who knows Bhojpuri, does not face R. The one who knows Gujarati sits second to the 

left of the person who faces the one who knows Malayalam. 

26.Who knows Telugu language? 

a. S 

b. R 

c. P 

d. Q 

e. None of these 

27.A is related to Q and Malayalam is related to Punjabi in a certain way. In the same way Hindi is related to 

a. Bengali 

b. Telugu 

c. Tamil 

d. Odia 

e. Gujarati 

28. Who is facing the one who is sitting second to the left of the one who likes Bengali? 

a. The one who knows Assamese 

b. B 

c. D 

d. The one who likes Bhojpuri 

e. None of the above 

29.B likes which language? 

a. Malayalam 

b. Odia 

c. Tamil 

d. Haryanvi 

e. None of the above 

30. Which of the following pairs is sitting at the extreme ends? 

a. E, A 
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b. C, S 

c. P, E 

d. R, C 

e. None of the above 

 

Directions (Q.31-35):Study the following information carefully and answer the given questions. 

Ten personsA, B, C,D, E, F, G, H,I and J work as managers in 10 different banks: AXIS, BOB, CANARA, 

HDFC,ICICI, PNB, RBI, SBI, UCO and YES bank. They are sitting in two parallel rows containing five people each 

in a row, such a way that there is an equal distance between adjacent persons. In row 1, B,C, E,H,I and person 

from Yes bank are sitting and all of them are facing south. In row 2, the remaining five persons are sifting and all 

of them are facing north. 

 The following information is known: 

The persons working in HDFC and Axis are sitting at the centers of the rows. The persons working in BOB and 

CANARA are sifting on opposite seats and neither of them is sifting at the corner. I and F are sitting diagonally 

opposite. The person working in ICICI is sitting to the immediate right of G, who works in PNB. J works in Axis 

and is sitting between A and D. Neither H nor A works in CANARA bank. E is sitting adjacent to the person 

working in RBI. B does not work in YES bank.. H is sitting second to the left of the person working in SBI. H does 

not work in HDFC. 

31. Who works in UCO Bank? 

a. I 

b. C 

c. F 

d. D 

e. B 

32. I works in which bank? 

a. RBI 

b. SBI 

c. UCO 

d. HDFC 

e. YES 

33. Which of the following is not correctly matched? 

a. RBI - I 

b. SBI - E 

c. HDFC - B 

d. YES - A 

e. UCO – F 
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34. I is related to Axis in some manner and B is related to UCO in that manner. To which bank is J related in the 

same manner? 

a. YES 

b. RBI 

c. PNI3 

d. AXIS 

e. BOB 

35. If the persons are made to sit in alphabetical order from right to left within their rows. who will be sitting to the 

immediate right of the person sitting opposite to the one working in CANARA Bank? 

a. B 

b. C 

c. A 

d. F 

e. E 

 

Directions (Q.36-40):Study the following information carefully and answer the given questions. 

Eight friends A, B, C, D, P, Q, R and S are sitting in two opposite rows facing each other 

such that each member of one row sits exactly opposite the member of the other row. In row 1, P, Q, R and S are 

sitting and all of them are facing south while in row 2, A, B, C and D are sitting, facing north. Moreover, each of 

the eight friends studies in different colleges, namely IIM Ahmedabad, Bangalore, Kolkata, Lucknow, Indore, 

Shillong, Kozhikode and Ranchi but not necessarily in the same order. 

D is neither from IIM Shillong nor from Indore and faces R, who is neither from IIM Kolkata nor from Lucknow. The 

immediate neighbour of the person from IIM Ahmedabad faces the immediate neighbour of the person from IIM 

Ranchi. A, who is from IIM Kozhikode, can never sit at the extreme ends and faces the immediate neighbour of 

the person from IIM Bangalore. R sits second to the left of S, who is not at any of the extreme ends. The persons 

from IIM Indore and Ahmedabad sit at the extreme ends of the rows and both of them are in separate rows. Q, 

who is not from IIM Bangalore, does not face A. The persons from IIM Lucknow and Kolkata are immediate 

neighbours and one of them faces B, who is from Shillong. The persons from IIM Ranchi and Kozhikode sit in the 

same row but they are not immediate neighbours. 

 

36. Who among the following is from IIM Indore? 

a. R  

b. P  

c. C 

d. B  

e. Can’t be determined 
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37. The person from IIM Kolkata is facing which of the following persons? 

a. A 

b. D 

c. C 

d. B 

e. None of these 

38. Which of the following is false about R? 

a. He sits on the immediate left of the person from IIM Kolkata. 

b. He sits at one of the extreme ends of the row. 

c. He is from IIM Bangalore. 

d. He is facing the person from IIM Indore. 

e. More than one statement is false 

39. Four of the following five are alike in a certain way based on their positions and form a group. One of them is 

different from the others. Which of the following is different? 

a. S 

b. B  

c. R  

d. A  

e. Q 

40. Which of the following is true about the person from IIM Lucknow? 

a. He is on the immediate left of the person from IIM Bangalore. 

b. He faces the person who is from IIM Kozhikode. 

c. He is not sitting at any of the extreme ends. 

d. All are true 

e. None of these 

 

Directions (Q.41-45):Study the following information carefully and answer the given questions. 

Eight persons from different companies, viz. Accenture, Google, Facebook, IBM, Infosys, Microsoft, TCS and 

Wipro, are sitting in two parallel rows containing four persons each, in such a way that there is an equal distance 

between adjacent persons. In row 1, J, K, L and M are sitting and all of them are facing north. In row 2, A, B, C 

and D are sitting and all of them are facing south. Therefore, in the given seating arrangement each member 

sitting in a row faces another member of the other row. (All the information given above does not necessarily 

represent the order of seating as in the final arrangement.) 

• The person from Infosys faces the one who is on the immediate left of L. L is neither from 

Google nor from Facebook. 

• An immediate neighbour of A faces the person from Accenture. The person from Microsoft 
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faces the person who is on the left of the person from Google. 

• There is only are person sitting between the persons from Google and TCS but that person 

is not J. The persons from Google and Facebook are not sitting at the extreme ends. 

• B sits on the immediate left of the person from Infosys. Persons from IBM and Microsoft 

are immediate neighbours. C and K are not sitting at any of the ends. 

• M faces the one who is sitting on the immediate right of the person from Microsoft. A is not 

from Microsoft or IBM. 

 

41. Who amongst the following is from Wipro? 

a. A 

b. L 

c. B 

d. M 

e. Can’t be determined 

42. Which of the following statements is false regarding M? 

a. M is from TCS. 

b. M is sitting at one of the extreme ends. 

c. M is on the immediate left of the person who is from Facebook. 

d. M is sitting opposite the person from Microsoft. 

e. All are true 

43. Four of the following five are alike in a certain way based on the given seating arrangement and thus form a 

group. Which is the one that does not belong to that group? 

a. C  

b. J  

c. A  

d. K  

e. M 

44. L is from which of the following organisations? 

a. TCS 

b. Accenture 

c. IBM  

d. Microsoft 

e. None of these 

45. Who is sitting between D and the person from Infosys? 

a. The person who is from Facebook 

b. B 
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c. M 

d. The person who faces the one who is from Facebook 

e. None of these 

 

Directions (46-50): Study the following information carefully and answer the given questions. 

Ten persons from different countries viz. Germany, Russia, Japan, Malaysia, China, France, Singapore, Australia, 

Spain and Thailand are sitting in two parallel rows containing five people each, in such a way that there is an 

equal distance between adjacent persons. In row-1 Naveen, Ganesh, Janani, Vivek and Ramesh are seated and 

all of them are facing south. In row-2 Karthik, Balaji, Varun, Santhosh and Thiru are seated and all of them are 

facing north. Therefore in the given seating arrangement, each member seated in a row faces another member of 

the other row. (All the information given above does not necessarily represent the order of seating in the final 

arrangement.) 

Karthik faces one of the immediate neighbours of the person from Russia. Karthik does not face Naveen. The 

person from Germany sits immediate right of the person from Australia. Vivek faces one of the immediate 

neighbours of the person from Japan. Santhosh is not from Japan. Vivek is neither from Francenot from China. 

Varun sits second to the left of the persons from Thailand. Naveen sits third to the right of person from France. 

Only one person sits between the person from Spain and Balaji. The person from Malaysia sits to the immediate 

right of Balaji. Janani sits to the immediate left of the person who faces Balaji. Only two people sit between 

Ganesh and Ramesh.  The person from China sits second to the right of the one who faces Santhosh. Santhosh 

does not sit at an extreme end of the line. One of the immediate neighbours of the person from China faces 

Spain. 

 

46.  Varun belongs to ____________ 

a. France 

b. Australia 

c. Malaysia 

d. Germany 

e. Singapore 

47. Who sits second to the left of the person the one who belongs to Japan? 

a. Thiru 

b. The one who belongs to China 

c. The one who belongs toMalaysia 

d. Varun 

e. None of these  

48. Who belongs to Spain? 

a. Santhosh 
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b. Naveen 

c. Thiru 

d. Janani 

e. Vivek 

49. The one who belongs to Thailand sits opposite to the _____________ 

a. The one who belongs to Australia 

b. The one who belongs to Germany 

c. Vivek 

d. Both option a and c 

e. None of these 

50. Which of the following persons sits at the extreme ends of one row? 

a. Naveen and Ganesh 

b. Varun and Karthik 

c. Vivek and Janani 

d. Balaji and Santhosh  

e. Ramesh and Naveen 

 

Answers: 

Directions (Q. 1-5):  

 

  

1). Answer: B)  

Two 

2). Answer: E)  

Dipen, Darshan 

3). Answer: C) 

 Devrat 

4). Answer: B)  

Jaguar 

5). Answer: E)  
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Dipen, Devrat 

 

Directions (Q. 6-10): 

 

6).  Answer: C) 

7).  Answer: E) 

8). Answer: A) 

9).  Answer: E) 

10).  Answer: E) 

 

Direction (Q. 11-15) 

 

 

11. Answer: D) 

12). Answer: C) 

13). Answer: C) 

14).Answer: C) 

15). Answer: D) 
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Directions (Q. 16-20): 

 

16).Answer: C) 

17). Answer: B) 

18). Answer: C) 

19).Answer: B) 

20). Answer: D) 

 

 

Directions (Q. 21-25): 

 

21).Answer: C) 

22). Answer: C) 

23). Answer: D) 

24).Answer: E) 

25). Answer: E) 

 

Directions (Q. 26-30): 
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26).Answer: B) 

27). Answer: E) 

28). Answer: D) 

29). Answer is: B) 

30). Answer: D) 

 

Directions (Q. 31-35): 

 

31). Answer: c 

32). Answer: a 

33). Answer :d 

34). Answer: b 

35). Answer: e 

 

Directions (Q. 36-40): 
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36)Answer:c 

37) Answer:d 

38) Answer:e 

39) Answer:c 

40 Answer:d 

 

 

Directions (Q. 41-45): 

 

41)Answer: c 

42) Answer: d 

43) Answer: e 

44) Answer: b 

45) Answer: d 

 

Directions (Q. 46-50): 

Facing South Ganesh/Ramesh Naveen Vivek Ramesh/Ganesh Janani 
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(China) (Germany) (Australia) (Russia) (France) 

Facing North Varun 

(Singapore) 

Thiru 

(Spain) 

Santhosh 

(Thailand) 

Balaji 

(Japan) 

Karthik 

(Malaysia) 

 

46. Answer: e) 

47. Answer: a) 

48. Answer: c) 

49. Answer: d) 

50. Answer: b) 
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